
Time: 10 Minutes Paper Math 7th T (1) Total Marks: 10

1st Month,3rd Week, 1st Day Syllabus: Ex: 1.6 Q#1 (ix,x,xi,xii,xiii,xiv,xv)

Q.No.1 Encircle the correct answer from the following choices. (1×4=4)



(i) Solution of (1.45 – 2.1 × 1.23) is:  (1.45 – 2.1 × 1.23)

(a) 1.133 (b) – 1.133 (c) 1.14 (d) 1.144

(ii) 3.85  (5.64 2.7 + 1.4}  (1.45 – 2.1 × 1.23)

(a) 2.5 (b) 2.7 (c) 2.6 (d) 12.78

(iii)Solution of 

(a) (b) (c) (d)

(iv)0.0555 ÷ (0.2 + 0.02 + 0.002)

(a) 2.5 (b) 2.6 (c) 2.7 (d) 2.8

Q.2  Simplify the following: (2×3=6) 

(i)

(ii) [3 + {1.25 × 3.85 ÷ (5.64 – 2.7 + 1.4)}]

(iii) 8×9 – [32 – {24÷(8–4–2)}]
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